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[Time: 2l Hours] 27 i

Please check whether you have got the right question paper

N.B: Attempt all questions.
Figures to the right indicate full marks.’
Working note should be part of answer:

Use of simple calculator is allowed.

-l i 5 M o

Select Appropriate option & re-write the statement.

Schedule 9 in Bank Final Account includes

a) Advances (b) Deposits

Interest on Deposits is shown by the Bank i in

a) Schedule of interest Earned (b) Schedule of lnterest Expended

is a Current Asset.
a) Share Issue Expenses (b) Bills Recewable
Issue of Equity shares is
a) Cash Inflow from Financing Actrvlty
b) Cash Inflow from investing Activity

The Schedule VI is divided irito parts.
a) Three (b) Two °

A Provision for Loss Asset = -

a) 100% (b) 30%
Standard Current Ratio =
a) 1:1 (b)2:1 ¢
Return on Equity = o
a) NPAT/ Proprietor’s Fund . (b) EBIT/ capital Employed

Match the pairs

[ Marks:75]

(08)

(07)

A 5 B
a) | Borrowings _ a) | Solvency Ratio
b) | Investments b) | Contingent Liabilities
c) | Debentures - c) | Schedule 8
d) | Statutory Reserve P d) | Secured Loans
e) | Partly paid Investments e) | Efficiency Ratio
f) Proprietary Ratio f) Schedule 4
g) | Stock Turnover Ratio g) Reserves and Surplus
1
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C0335/C0410 FINANCIAL REPORTING & ANALYSIS (CORPORATE BANKING & 1NSURANC!5).

Q.P. Code :00976

The following details are pertaining to Mahindra Bank Ltd. as on 31t March, 2017. You are required to (15)
prepare Profit and Loss Account for the year ended 31°¢ March, 2017 and Balance Sheet as on that date.

Particulars . Rs. (Dr.) - Rs.(Cr.)
Share Capital (Rs.10 each) 70,00,000
Statutory Reserve 30,00,000
Loans, Cash Credit and Overdraft 31,00,000
Premises 50,00,000
Furniture 10,70,000
Investment 20,00,000 :
Fixed Deposit ' 20,00,000
Savings Deposit 22,00,000
Current Deposit W : 5,00,000
Interest Expenses on Deposits - 2,00,000
Salaries and Allowances 2,40,000
Other General Expenses 20,000
Rent and Rates ; 80,000
Director’s Fees ~2,20,000
Reserve Fund g 10,00,000
Interest and Discount Earned 15,50,000
Printing and Stationary 80,000
Bills Purchased and Discounted 30,20,000
Interim Dividend 1,20,000
Investment in Shares 80,000
‘| Cash'in Hand 2,00,000
Cash with RBI 8,20,000
Money at call and Short Notice 11,50,000
‘Borrowings from Banks 1,50,000
; 1,74,00,000 1,74,00,000

Other Information :»
a) Authorized Capital was Rs.80,00,000 Equity Shares of Rs.10 each.
b) Unexpired discount amounted to Rs.50,000.

c) - Provision for Tax is Rs.1,00,000

d) - Endorsements on behalf of customers were Rs.11,00,000.

e). Transfer to Statutory Reverse 25% of profit
OR
Write short note on:-
a) Rebate on bills discounted
b) - Acceptance, endorsements and other obligations
c) Inter office Adjustments

1530F3C4BSE7ABB225F71194F8660BES
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C0335/C0410 FINANCIAL REPORTING & ANALYSIS (CORPORATE BANKING & INSURANCE).

Q.P. Code :00976

From the following figures relating to Sneha Insurance Company Ltd. for the year ended 31°¢ March, 2016. (15)
You are required to prepare the Revenue Account for fire Department

Particulars s Amount
Reserve for Unexpired Risk at 31-3-2015 ' 6,00,000
Outstanding Claims:- ,

As on 01-04-2015 ~.2,00,000
As on 31-03-2016 1,50,000
Claims paid 8,00,000
Re insurance premium:-

Paid 50,000
Recovered o 30,000
Premiums Received 20,00,000
Commission:-

Direct Business 30,000
Re Insurance ceded 10,000
Re Insurance Accepted 5,000
Management Expenses 6,00,000
Interest and Dividend (Gross ) 90,000
Legal Expense (Regarding claims) 30,000

The Reserve required for Unexpired Risk as on 31-03-16 Is 50% of net premium received.

OR

Explain the following concepts
Reserve for unexpired risk

Life Insurance Fund

Bonus to Policyholder.

Fo!low#n_g figures are taken the Trial balance of Kavita Ltd. as on 315¢ March, 2016.

Particulars

Cost

Provision for
Depreciation

(1/4/2015)
Goodwill 2,50,000 =
{ Land & Building 4,00,000 30,000
Office Equipment 30,000 7,000
Motor Cars 1,40,000 50,400
Plant & Machinery 10,00,000 2,56,000

Provide depreciation on written down value of the Asset at the following rate:

Land & Building 5%

Plant & Machinery 20%
Motors Cars 20%
Office Equipment 10%

Prepare a schedule for Fixed Asset as on 315t March, 2016 as per Revised Schedule VI

1530F3C4ABSETA8B225F71194F8660BES
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C0335/C0410 FINANCIAL REPORTING & ANALYSIS (CORPORATE BANKING & INSURANCE);

OR

Q.P. Code :00976

Explain the following provision of Revised Schedule VI of the Companies Act-as regards to:

Share Capital
Long Term Borrowing
Non-Current Investment

Following are the summarized Balance Sheet of Soham Ltd. as on'31%* March, 2015 and 31 March, 2016.
Balance sheet

<

)

2015 (Rs.)

Liabilities 2015 (Rs.) | 2016 (Rs.) Assets 2016 (Rs.)

Share Capital 2,00,000 |  2,50,000 | Bank 35,000 16,000
12% Debentures 1,00,000 80,000 | Stock 40,000 75,000
10% Pref. Shares Capital 50,000 80,000 | Debtors 90,000 | - 1,50,000
Bank Loan 70,000 | 1,10,000° | Machinery 75,000 60,000
Reserves 20,000 25,000 | Furniture 10,000 | ~ 8,000
Profit & Loss A/c 50,000 60,000 | Land 1,70,000 | 2,80,000
Sundry Creditors 60,000 75,000 | Building 1,40,000 99,000
Bills Payable 40,000 33,000 | Goodwill 30,000 25,000
'5,90,000 | 7,13,000 5,90,000 | 7,13,000

Other Information:

During the year part of the Building was sold at book-value,
During 2016 Interim Dividend was paid Rs.10,000 & Income Tax was paid Rs.5,000.

Depreciation charged during 2016 was Rs.4,000 on Furniture, Rs.12,000 on Machinery and Rs. 20,000 on

Building

Part of Machinery was sold for Rs.15,000 at a loss of Rs.4,000.

Prepare Cash Flow Statement as per AS-3 -

= OR
Complete the following Balance sheet As on 31° March, 2016 _
Liabilities (Rs.) Assets “(Rs.)
Share Capital 3,00,000 | Fixed Assets s
Retained Earning 3,00,000 | Current Assets:
Creditors ? | Stock ?
Debtors ?
Cash/Bank ?
? ?

Other Information:-

Total Creditors are 2/3 of Net Worth

Total Turnover for the period is Rs.18,00,000.
30 days sales are in the form of Debtors: (Assume 360 days in a year)

Stock turnover ratio 5 times
Cost of Goods sold is Rs.9,00, 000
Acid test Ratio is 1:1

Total Assets Turnover (Turnover/Total Assets) - 1.8

1530F3C4BSETA8B225F71194F8660BER
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' C0335/C0406 AUDITING.

i [Timesz-l- Hours]

Please check whether you have got the ﬂgii
: . Allquestions are compulsory:.

Q.1 Choose the correct option.

1. A person of similar standing is called
a) Auditor b)Peer c)Professional d) CA

2. Object of social audit is

b) To appraise society
€} To examine financial recor%
d) WNone to these.

3. Divined can be paid out of prgfit ;
After deprec:ation bt Seforé 8«

1CBDCOECO13EBBI8EYACF1860C41D20D



o €0335/C0406 AUDITING.

Q.1b) State whether following statements are True or False.
1. Management audit is done to assess correctness of taxable prom

2. Protection of interest of management is the function of SEB%‘“’{‘?“,@S
3. Private companies are excluded in calculation of ceiling o@humpé@ﬁ{' _
4. Auditor can give qualified certificate. ,Q.,[ s 7 g >
5. A chartered accountant can get the clients by advertp&r@” o &

6. Auditors has a right to receive notice of Annual Generﬂﬁge
@ C‘S

S

Q.3a) What are the Iuab|i|t|gsﬁa%&m§§maﬂu&% SR
b} Write a note on Segfhe?m W@g ‘\\ : ‘

Q.3¢c) What are the@rovlsmm‘tifﬁ:@) g;ﬁbt}fre 5 \ i }nérai@kﬁf cbmpanv auditor? (08)
x’ Qy o RS i

"« c}-« S:—

, h"tgj ‘élffé(eﬁcé h‘e‘tw O@ﬁ?‘cﬂecﬁﬂeport & Unqualified Report? (07)

\.

S

" e
S v',-{? 24

i’i%w-" @n%k\lﬁemﬂf N'on‘iné

c'

;émi’o e *&Eﬁé

k.‘ kﬁﬂ Y

%
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C0335/C0409 INTERNATIONAL BANKING & FINANCE.
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= N.B: 1. All questions are compulsory
2. Figures to the right indicate full ma r,kg-!

~ Q.1A) What do you mean by International Bank? Explain nsi‘emures

9 OR

C) Write a detailed note on World Bank.‘ >

D) Discuss the various guaranteesi *hg&hefbinl&fopthé pm,;ect expon NI k

‘n

ék‘f' 2
C) Discuss the qui\{meth?

o ™
i x -5? 537\"«2"."'\{.\‘?‘ Y
D) Explain in @%@fﬁcmtics arld functions of Of’fshore Fmancml Centers.

MY

D) Bn‘ng“but ui&»’l thq-ﬁéa ] agéﬁmct:oﬂ of Asset Liability Management.

7IDFB28E480BFA2572A76C47A9356140
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C) Calculate the Rate of folloMmcigs_ag_ﬂnst Indsaﬂ»ﬁlpees

- B!d < "‘ : LAY

°60:3000
1 GBP USD =3

1 EUR USD

1 USD JPY

1 USD CHF

D) Calculate forward rate of Dollar to@iﬁé’g P
Spot Rupee against Dollar = R 60.6010/60.60

- ~ -
5t 5 S
- R e Py
= e

N

-

" Swap Point

20002100
2200/2300
= 2400/2500

2600/2700

Q.5  Write short ei?
a) Gold Stan “0{
b) NEFT K2
¢) Pre-Shipin, nt Financ
d) Capf@-fAMM%ﬁ¢

€) Balance

of Payment
i < et

. oy & _'."
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N.B:

Explain the following terms/concepts: {Any 5)

C0335 /C0408 FINANCIAL SERVICES MANAGEMENT.

[Time: 21 HOURS) R

Please check whether you have got the rlght que,stlah phpér T _-
1. Al guestions are compulsory aol _ Pt
2. Figures to the right indicate full marks ,-“

a) Close Ended Mutual Fund i
b} Financial Engineering S5
¢} Commercial Bank
d) Cost Center s
f) Forwards IS
J 2 NsoL
7 h) Loan Syndication :
Q2 A) What do you mean by Fmandﬁ] lﬁnbva’ﬂqh? ﬁiscuss t‘hetauses of Fmah&ial Innbvamn. (08)
B) “The scope for merchant tgank‘iﬁgrs*é‘reamh Ii‘uiia\M Drscuss 3F S (07)
JO 5 L R P T B L S S “
Q20C) Define ‘Leasing’. Explaimtﬁ tygés.x 7S T e SV aeY (08)
D) D!smssthechallenges by :;e?{hancial senglce sector in lndm (07)
*&3” Define 'Factorméf : : . ‘ S “ 3 (08)
B) Distinguish bet\geén Ié‘adngaaﬂ hiré ]Jurcbase = S Sy (07)
. ‘ ﬁ ' (A ‘ -
Q3C) Explain Nii}guq} Fund an daisguasuswmport‘ance R (08)
D) WhatisFoﬁe?ﬁng?gkpfélthSMGmanlsm N;f" 2 (07)
*),4 A) W‘.ﬂat ;sSeCubﬁuaﬁdq? p{a‘m the cause for unpopuianty of Securitization. (08)
B)_{xpl In,ﬁhevaﬁnh i&pesngﬁnanmal denvatlves (07)
m amﬁm\ gpéhdsfs'féﬂuﬁq,s.; : (08)
# gﬁéﬂp lﬁgbg'x?(_alnhaby wa cre?i:t“ ratlrng agencies in India. (07)
' (08)
(07)
(08)
(07)

BOATEFCFESE12E4F558EB6BB71CA49F4
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N.B:
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Q.1 (08)
(07)
(08)

(07)

Explain the 7 Ps of Markgtﬁ\g%.gﬁ'aankungand 1n§urance‘3e of.

‘-\\‘VV\"\.

Q.2 A) Discuss the direct & m@]r‘eﬁt«?naﬂetwgghahne 5/

(15)
(08)
(07)

(08)
(07)

TR A

\.:w-

are thé,varlous«fac‘thfs affeEtmg brand n‘nage'r‘ (08)
he’bﬂhéﬁps of Integrafgd Marketlng Communication. (IMC) (07)

(08)
(07)
(15)

it aénbte qr?sdc:al markeflqg

SN f‘;“
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N.B: 1. Question.No.1is compulsory.

State True or False S S S ' ‘(05
Fundamental analysis believes that stock  fhovement is 10% psychaloilmi and 90% Ibgical 2
Joint stock company stock financing is done by |ssumg shares T S i
Nifty’s base period is 1995. A S : ‘
Net worth means equity capital + reserves and surplus Ry QD ‘
The relationship between stocks, returns &? market lndex §1;ructures fs called beta ’f-“
Purchasing power risk is part of systemaﬂc\risk i g 3 '
A no growth company will have 100%79“0& ré“tio < T
The object of portfolio is to reduce’uncertam‘cies by dgn%nf‘ Cation 55>
Match the following colurnns» a L:'-‘“kr" ST PRI (o
Group A ST N fifiiu'pp" P05

1. | Instrument Pt S Y 5 A - Posslbﬂ]tv oY loSSf ¢

2. | Risk s, Jo] Retarn "< & VR

3. | Ready delivery. - 5| €. Futur ﬂatey'ﬁ"._ T

4. | Forward de.ttv‘etv " D. | Fixed time

5. | SEBI VLY Ry = treaausBﬂls

6. Goverqﬁqh\&@mles o 1988

7. | Return. <% > .| Profit on Loods

TR H. | :Profit on Capital invested
b 2 T x 37 gl

Exptam @hy 5 investmqmaiternaﬂves SR (C

Expﬁain ablettlve of "rnve“stment. S (C
(C
(C

‘YlLVi‘aj {td Has’offéged quhﬁme of :nvestment when a person investing Rs.4, 000 presently is {1
eﬁﬂtlgd w refums ofﬂml 000, 1 ﬂs 1, 500 Rs.1, 200, Rs. 1 100 & Rs. 400 in next five years. The

(t

\20‘12 ﬁwldénd arée:{pecfed tagrow at 10% p.a. The incurrent market price of share is Rs. 20.
AL Cakulateeégpectgd Return?

L 52 Lﬁequlred ratq;of return is 12%. What would be the value of stock?

\W itworth In#est‘lng in the shares.

OR

84A7909CASD17C71E6FO00E4C36AAD23B



Q.4

brokerage of Rs.600. The company paid followmg dividends.
June 2014 Rs. 800
June 2015 Rs. 1000
June 2016 Rs. 1,200. g
He sold all his holding for Rs.34,500 (net) on 15% 0%2016
1. What is holding period return?
2. What is Annualized return?
3. Is Mr. Shah a good investor?

B]

The capital of Rohit Ltd consist of Equ\it)l‘sba; s@w’ehcﬁ Rs.8, ‘mma 9% preference ‘igharas of (15)
Rs.10 each 3, 00,000. The Net proﬂt a‘-ftePTnx s -3 70@(1& ﬁqumy dividend is 20% and rharket ~

price per equnty share is Rs. 40 You are réqalred tb‘éalg\latq\foilowmg

Equity ledenicqﬁr :
Earing per Shgref_ o,
Price EarmgTRath

YNNNY

(og) !
(07) ) 1‘
(08)
(07)
(15)
o Tendulkar Ltd Market
_ o 2 16 14 -
e 2‘2 e 18 16 -
32070 20 18
Y S8 18 12
84AT909CASDI7CT1E6FO0E4C36AAD23B ’



